HRY AT R

(8532

(THAEFES)
SHI54E 3A23H(CKIEH) H Kk F X 8 X & #
i EHAL | AR | =E PE ZiE #A Eﬁ BB B4 EHA (AR &E g ZiE &E 22 LR
F | =& [ 7.0 | 1,296 ~ 324 |10 0k | Ba TVbY BIF | 0.1 216 ~ 162 |o1 « #
Kig
=i | 3.0 10 mh | B&
o = I 1,944 | 1,296 | 864
ERVAITA =i [ 0.1 864 ~ 324 |1 k| mh | BE
AFy T ZhED B | 0.1 1,296 —~ 1,080 | 1 k| #wh | B&E
H3%) 0.1 | 1,188 | ~ 324 | wn DEXALD =K | 01 | 2,160 ~ ~ |1 k| a | rx
Tz = -
= 0.2 ~ 4 win | B&
— B 1,188 540
BHE
=g | 3.0 | 1,620 ~ 864 |15 #n | L BEVE| 2.0 | 3,024 ~ 1,296 | 10 k| ®h | R&
SE=2
A=A
Bk | 10.0 | 756 648 432 |10 wh | BRe BERE| 1.0 | 3,024 ~ 1,296 | 10 k| ®h | ®R&E
Ty Y
- M3 | Ek | 1.0 | 1,620 | ~ | 1,080 |10 « &®e
iy, LB 0L~ 11,080 ~ |wk| & | & TSR] EME | 08 | 1,850 | ~ | 540 |5 & g
=i | 0.2 | 3,240 o~ 864 | 4 2R | BRE
EHEE EMAER = | 0.7 | 648 ~ 216 | 4 & RE
i BFF | 0.7 702 594 324 |3 wh | BRE | ER Jt¥EE | 10.0 | 2,808 e 2,160 |20 k| #h | RE
S =i | 0.2 | 1,080 ~ 756 3 208 | BRE
s Bl | 0.1 ~ 108 ~ 1k
ik, HiE | 02 | 3,240 ~ 1,296 | 5 #in | BRe
HE | 1.0 ~ ;
= — - B I 194 86 |01 k
F e = I i 1,080 12 E| & -
i B I 3.0 ~ 36 ~ 01 k
NG A 30.2 | 1,620 s 1,296 RE Fe # =i | 02 | 1,620 % 1,080 | 3 k| #&h | mEL
- E | = 5
T 1,577 | ~ | 1,080 RE RyF—= =l | 02 [ 1,188 | ~ 216 | 2 k| ®h | aEE
KiREE FIFF ~ 1,296 ~ 208 | BRS
E =1 ~ 1,620 ~ 208 | B8
- B | 09 | 1,404 | 1,080 | 756 | 5 #h | BRe
ol =10 1,296 5 540 20K | RE
=i | 35 | 2,160 ~ 1,296 | 4 BEE
k=h % =1 972 ~ 648 xR | BE
N I 756 o~ 216 0% | BRE
—— EiE | 6.0 | 140 | 108 76 |02 wh | B8 K3 L 864 ~ 432 0% | BRE
AT 15.8 | 5,508 ~ 3,780 | 10 B FoTUR HIR 540 ~ 432 0K | BRE
B =a3
HEK 10
RE—v EH | 01 |8640| ~ [1,080 |0 AL Z D1t "
TR = | 02 4,320 ~ |3,240 |10 B/ B3 35.0 t MAWE | 1369 t




